| ARE)EN

RIS B “PRih—AR” AT IE AT AU B 5 R AT A RS iR A
NEHB: 2022128 5H%F 20224124 23H (GL1540T/EH)

FAAL:

2

m

SRR

BRI & L

SR B 2 1 L

BILERA T

ik

LGN 2

AL

R TR [A]

SR

1
2\

Z1=8
JEHEIR

U
#

%

YENE

A T

JRARIHE | o
#EmR | A

)]

#

441427107201JC00068

EHR BT

19864F

113. 26

113. 26

227.89

MM TR BB eE =

: BEH
AR
B
A

113. 26

227. 89

441427107201JC00109

R BAA

19844F

105. 69

105. 69

MR BB BB =4

HE
HAE%
B
: AR

TEB M TEHE N g

105. 69

441427107201JC00124

EIF5 LebL )

R

19844F

309. 60

N EG BT R arE=4

K BEE
M. BEH
[E=EE:
Jb: BFEHEE

157.12

309. 60

441427107201JC00138

FofntE BIhETE

W RE LA

20024F

117. 39

117.39

367. 18

HEM TR BT R B BN

K. BHHEME
m: BAELE
[iE=E=F:
jt: BEH

117.39

367. 18

(3]

441427107201JC01184

B

M RE LN

19824

104. 01

104. 01

269. 61

TR BT BT BRI

K BEME
M BRI
7. HAH
Jb: BFEHE

104.01

269. 61

441427107201JC00008

WRAE BT

19844F

110. 65

110. 65

110. 65

MM TR BT BT B — A

R HAER
m: BRI
76 HHEHK
Jb: BHHE

110. 65

110. 65

441427107200JC00475

sty

%t

BIATE

M RE LN

19834

149. 59

149. 59

279. 44

HEM 7 BRI B FR BRI

: BEH
B
: BHER
: HANE

SEHE

149. 59

279. 44

441427107201JC00358

BT

MR g 251

19854E

153. 24

153. 24

298. 52

MM ER BB BT A

R HEH
m: BAH%
v BRI
it: BfE5E

| 298.52

441427107201]JC00214

HRIE BARTE

19854F

117. 82

117. 82

130. 23

MM ERE BT BT =4

: HAEM
B
CEL

. B

BB

e

F 1,

\
/i
s

07537188812

B EFHERRPL

of

F




UG E “Fitth— & ” AN BRME AR KM 5 BT BB A S

IR BN At HE: 2022412 A5H % 20224123230 (GE154THEH) B m
" & DN R S5 B R B Find iAot | &
5 SRHLRAG o | BB N | FRHE | BREE | M| FsRHh | AR = | BRE
| A 7 Z5) 0 3 sz
R HE
10 | 441427107201JC00244 R BIRTE 3 | HmRE Y 19754 130. 25 130.25 | 282.00 | #HMWERE B M UAAE g Egig 130.25 | 282.00
Jb: BARE
e HEH
Aoy
11 | 441427107201JC00194 HEH BIRTE 1 BELH 19844F 112.18 | 112.18 | 112.18 | M &K R BET BRI AN g EELZ‘ 112.18 | 112.18
dt: BHEHE
F: HEM
12 .| 441427107201JC00187 FHERI BETE 2 | mREL S 19844F 97. 40 97. 40 196.62 | MMTEREBETEHT /A g Sgg 97. 40 196. 62
Jb: BfRE

b
2o
p=il
\|

/I

N
=




